1970 A HOKHL[1]

(1)
mzZHEAREE LT, a® =cos2mr +isin2mz=1TH 575, n=1 2, 3, 4,5, 6 ICOVWTHNIZ T TH 5D,

alzcoszwuisinzzljﬂ/§I aZ:coszﬂHsingz:_lJ”@'

3 2 3 3 2

~1-3 a5:cosE;r+isin§rr:l_\/§I
2 3 3 2

Lo T, a"RNe Vo8 5EIT 618 - (%)

a®=cosr+isinz=-1

a®=1

s 4 .. 4
a :COS§7Z'+ISII’I—72'=

(2)
n=emoO L =X a"=1THoHrN1H
1-a"=1-a*"=1-a*"=1-a*"=1-a" =0 .. (5:)=0

n=6m+10 &, X a"=aThHsdrNbH
1-a"=1-a1-a*" =1-a% 1-a*" =1-a% 1-a*" =1-a* 1-a”" =1-a°> .. (5X)=1

n=6m+20t % a"=a’Tthirnb 1-a*=1-a°=0 .. (5X)=0
n=6m+30t& a"=a*Tthisinb 1-a*=1-a°=0 .. (5X)=0
n=6m+40tx a"=a'Thirnb 1-a’"=1-a%=0 .. (5X)=0
n=6m+50t% a"=a’>ThHirob

1-a"=1-a% 1-a*"=1-al%=1-a%* 1-a* =1-a®=1-a°

1-a*" =1-a*’=1-a%* 1-a" =1-a*=1-a .. (5X)=1

PLEZE Y, R BEIX
NZ6 CEl-7=RVNLEDEEL, TNLSHNDLEEZO0 - (%)



